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Choice (30%)
) How is the-shell of a hen’s egg formed? The eggshell is composed of
calcite, which is a crystalline form of calcium carbonate (CaCO3). -

(A) large (B enlarge (C)enlarges (D) largely
) An average eggshell weighs about 5g and is 40 percent calcium. Most of the

calcium in an eggshell is down within a 16-hour period.
(A)lie (B)lay (C)lain (D)laid
) Utilities programs automate common tasks and maintenance functions on

the hardware.

(A) perform (B) performance (C) performed (D) performing

) Computer software, also a program, is a series of instructions that control
computer hardware. (A) call (B) calls (C) calling (D) called
YWhen the food supply is constantly low in calcium, egg production stops.

(A) event (B) eventual (C)eventually (D) events
) In the blood, free C2* ions are in equilibrium calcium

(A) in (B) on (C) at (D) with
) But scientists have yet to figure out how to mine it without an
environmental disaster. (A) cause (B) caused (C) causes (D) causing

) Oil companies have known about methane hydrate since the 1930S, when they

began high-pressure pipelines to transport natural gas in cold climates.
(A) use (B) used (C) uses (D) using
) The person the order is automatically shown the correct list of options and

prices for a given pizza. (A) takes (B) take (C) taken (D) taking
) Domino’s Chief Information Officer, Tim Monteith, explains, “The inventory is
adjusted.
(A) dynamite (B) dynamical (C) dynamic (D) dynamically
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